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Guess Paper – 2013
Class – X
Subject – Mathematics
MCQs                                                                                                                                 (10)

Q-1.  g.c.d. of two consecutive even numbers is : 

             (A) 0                     (B) 1                          (C) 4                              (D) 2  

Q-2.  Which of the following rational numbers have a terminating decimal expansion?

             (A) 22/35              (B) 11/99                      (C) 41/250             (D) none of these                     

Q-3. For any two positive integers a and b, there exist unique integers q and r such that a=bq+r, 

          0 ≤ r[image: image2.png]< b,



      If b =4 then which is not the value of  r ?

               (A) 1                  (B) 2                    (C) 3                         (D) 4  

Q-4. The decimal expansion of  [image: image4.png]31
7 3




     will terminate after how many places of decimal ?  

                (A) 1                (B) 2                            (C) 3                        (D) 4

Q-5.  g.c.d .(a, b)=18, then l.c.m.(a, b) ≠__
               (A)    36              (B) 78                 (C) 90                       (D) 18000      

Q-6. For some integer ‘m’ every odd integer is of the form :

         (A) m            (B) m+1              (C) 2 m                   (D) 2 m+1

Q-7. If two positive integers A and B can be expressed as A= ab2 and B = a3 b, where a, b, are prime numbers, then LCM (A, B) is : 

                  (A) a b                (B) a 2b2              (C) a 3b 2                   (D) a 4b3  

Q-8. Given that  g.c.d .(50, 60) = 10, l.c.m. (50, 60) = 15 X k, then the value of k

      (A)  50             (B) 40                  (C) 20               (D) none of these  

Q-9. If g.c.d (a, 8) = 4, l.c.m.  (a, 8) = 24, then a is :

               (A)8                           (B) 10                  (C) 12                (D) 14  

Q-10. Which of the following is rational ?

(A) [image: image6.png]


   +[image: image8.png]


             (B)  [image: image10.png]


 +[image: image12.png]


                      (C)[image: image14.png]


 +[image: image16.png]


                     (D)[image: image18.png]


  +[image: image20.png]


                      

SQ                                                                                                                              (8)
Q-11. Prove that  [image: image22.png]


    is irrational.   

OR

Q-11. Prove that  3 + 2 [image: image24.png]


      is irrational

Q-12. Using fundamental theorem of arithmetic, find the g.c.d .of 26, 51 and 91

OR

Q-12.  Use Euclid’s division algorithm to find the g.c.d . of 765 and 65.

Q-13.  Find the l.c.m. of 120 and 144 by using fundamental theorem of Arithmetic.  

Q-14. find  square roots of  9+2[image: image26.png]
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Q-15. A milk man has 150 liters of milk of higher fat and 240 liters of lower fat. He wants to pack the milk in tin of equal capacity. What should be capacity of each tin? 

Q-16. Show that any positive odd integer is of the form 4q+1 or 4q+3 where q is a positive integer.

Q-17.  find  l.cm. (105, 91) using  g.c.d. (a,b)× l.c.m. (a,b ) = a b
OR

Q-17.  find  the largest number which leaves remainders 4 and 6 respectively when it divides 220 and 186
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